SAP ABAP table ICL MI RESERVE {MI: Reserve}

ICLCLAIM
ICL MI RESERVE-CLAIM = ICLC_L_AI_M'(}]:A_IM ____________ CLIENT [CLNT (3)]

-7 ACTIVE [CHAR (1)]
- CLAIM [CHAR (17)]

7 ICLSUBCL
2 ICL MI RESERVE-SUBCL = ICLSUBCL-SUBCLAIM CLIENT [CLNT (3)]

7 == 0..N | ACTIVE [CHAR (1)]
/ _ - CLAIM [CHAR (17)]
-7 SUBCLAIM [CHAR (3)]

ICL MI RESERVE-CLIENT = TO0O0-MANDT TOO0O

-7 ' MANDT [CLNT (3)]

B TOO06

ICL_MI RESERVE-RSQUANUNIT = T006-MSEHI o [MANDT [CINT (3)]

—_ - =
—_——

- " | MSEHI [UNIT (3)]

-7 TCURC

ICL MI RESERVE-CURR = TCURC-WAERS MANDT [CLNT (3)]
WAERS [CUKY (5)]

___________________________________ TICLO020

0-N _ICL_MI RESERVE-CHANGEREASON = TICLO30-RESCHREASON 0..N | CLIENT [CLNT (3)]
Tt~ RESTYPE [CHAR (2)]

TICLO30

-~ -
—_— -
—_— —

ICL MI RESERVE-RSREASON RE]J = TICL112-REASONRE] 0..N | CLIENT [CLNT (3)]

RESCHREASON [CHAR (2)]

-l TICL112
B CLIENT [CLNT (3)]
\ ICL_MI_RESERVE-APPROVEDBY = USR02-BNAME 0..N [REASONRE] [CHAR (2)]
"\ S~ APPROV [CHAR (1)]
\\ ~ - .
“ e e o USRO2
S [CL_MI RESERVE-CHANGEDBY = USR02-BNAME OUN
. N 'MANDT [CLNT (3)]
o . |BNAME [CHAR (12)]




